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7T a=(56+3xx)/(1-2%Ixy);

? a:=(5+3%x)/(1)y—2+I%2);
7 a:=(543x%x)/(2¥ —2xIx2z);
7ai=x/2/T)y - 1/x;

? a=x"/3+2/2;

? a:=2+x*(y+2)/(2-Db);
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f)+ f(2)+ ...+ f(100)
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sin x

@) =105
. f(z) =sin (1 fﬁ)

fla) = 1o
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1,4,7,10,...,151

2,5,8,11,...,152
1,5,9,13,...,201
3,7,11,15,...,203
1,6,11,16,...,251

2,7,12,17,...,252
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if isprime(n) = true then...
N2WaN NN DNYD NN DYSININY £ 2 2 2 2 1 \pnd o N ©NY Matlab -2 DN 4
x=4x(l — 1)
(format short -2) 7 ©92PN NIIVN NONX
-V 7920 X 20 JTHN NN NN A 5

3 DMWY DO YD A DY MNWNRIN MMYN 3-2 (N)
2 DMY D209 D2 MNINND TNNYN 17 DY NP IMTNIYN 8-1 Q)
4 DONY D290 53 MNINND TNV 17 DY IPONIYN MTMYN 12-2 )

NTIPON NN Matlab -2 DYNIN IWND D230 NN

? sum(diag(A,?2)) + sum(diag(A’,2))
? sum(diag(A,3)) + sum(diag(A’, 3))
? sum(diag(A,4)) + sum(diag(A’,4))
? sum(diag(A,5)) + sum(diag(A’,5))
? sum(diag(A,6)) + sum(diag(A’, 6))

? sum(diag(A,7)) + sum(diag(A’, 7))
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